
Prior learning assessment  
Subtraction Year 5  

 
 
 

1) Subtract 13 from 276  
 
 
 
 
 
 
 
 
 
 

2)  345 – 9 =  
 
 
 
 
 
 
 
 
 

3) 567 – 365 
 
 
 
 
 
 
 
 
 
 

 

 

 



 
 

4)  9878 - 5012 
 
 
 
 
 
 
 
 
 
 

5)Take away 3245 from 14896 
 

 
 
 
 
 
 
 
 
 

6) 898728-18312 
 
 
 
 
 
 
 
 
 
 

 

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

 

 

 



7) 63746 – 42587 
 
 
 
 
 
 
 
 
 
 

 
8) 87052- 69372 

 
 
 
 
 
 
 
 
 

 
9) 28.90- 1.23 

 
 
 
 
 
 
 
 
 

 
 
 
 

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

  

 

 



10)Sammy has been saving her pocket money. She has £25 to 
spend on clothes. She buys two tops and a pair of shorts. How 
much money does she have left?   
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